B R i112E# 5% 24p (R¥p=) Tx 20
BB AE 1LY - 633

E Z?f‘ﬂé%’]‘ﬁiﬁ%%‘:ﬁﬁi = 5‘?‘9‘1’?%
DR L v
R 4 60

4 = 3¢ Al-ChatGPT 4 %
AHEA T REAENFA AL
WAE- LT BaT s «i_;;upq
PEARENEERTETIFER R
¢ B4R 1 (15:30~16:00)
(- ) 4P - 4 =38 Al-ChatGPT 4 %
LR o4 &0 Al 4 chiRs 23 4 el Al
A s ERY R FER? £ R
ChatGPT pF ¥ % (%% 4 H &8 %?
%

@'} = ;4 Al m?;}iﬁ—ﬁ LB B A TR T
LA E IR B 2 TR SN HaE
2 RN Al YR A 5y o de 2 50 Al
R R R AR R ,‘L%%‘E‘%%ﬁi‘ )

%%5%%5*’&ﬂ3%?$ﬁﬁ%°
@Bﬁﬁ#ﬁ% Lgr 2N Alg g
b 4T ié\Ahﬂyﬂib A

1

—%&
%

!

i



il {‘ifﬁ;ﬁiﬂ 4 X530 Al E R o JR B
B (ocd)R T £ 7 ks u@# %@ { %
HL v BB EF RS EREL

2]

2. 1 1 ChatGPT ¥ 113 B & &ec TR - 345872

4 F34 Al PR GEEFRTZE T jiGH

BB E & anp s o

R LA BIEN X FRE T LK
F 3 N R ChatGPT» &% 37 it % 37

@ik F PRI RF B FTET RS T
FP3E 0 ¥ U4 N B F 3 ChatGPT > iR
ChatGPT%ﬁ XFFFEBlap 3 LEF
B ERE% o RAE IR A BT
(=) P - - LF27 Jare v gap
Lw:%W§%@ﬁi$25aéigﬁéﬁg
Aes B Y G Bl R At B (TR A

=)?

§ /?*ﬁ%ﬁm’ﬁiﬁéﬂ%;fa

P w Y - FLE D P
El /

NE I
 TRRE Gk G ud
* %7 ¢ (16 : 00)



